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Note : Question No. 1 is compulsory. Attempt any four
questions from question two to six.

1.	 (a) Fill in the blanks.	 2

An individual exhibiting both male
and female sexual differentiation is
called 	

Trisomy of 21 chromosome causes
	 in human beings.

(b) Write 'T' for true and 'F' for false statements. 	 2

An individual can express both
contrasting conditions of a character
at the same time.

Genetic information of "TMV" is
stored in RNA.

(c) Choose the correct answers from those given 	 2

in parentheses :
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The polysaccharide antigens are
generated by (glycosyl transferases/
D-galactose fucose).
Huntington's chorea is inherited as an
(autosomal/sex linked) disorder.

(d) Give a technical term for each of the
following :

The enzymes capable of recognizing
specific DNA sequences which they
cleave.
Unusual growth, strength, and health
of a heterozygote from two less
vigorous homozygous parents.
Spread of cancerous cells through
blood or lymphatic vessels to other
tissues where they form new growths.
Antigen that differs between
individuals of the same species.

(e) Match the items given in Column I with
those given in Column II.

Column I Column II
(i) Ethyl Methane (A) Xeroderma

Sulphonate (EMS) pigmentosum
(ii) A recessive

mutation
(B) Patan's

Syndrome
(iii) Genetic drift (C) Alkylating

agent
(iv) Autosomal

aneuploidy
(D) Founder

effect
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2.	 (a) In the following cross, what fraction of 	 2
offspring would be dominant and recessive
for all the genes ? Yy Tt Ss x Yy Tt Ss.

Giving one example of each, define the 	 3
partial dominance and co-dominance of
genes.

What are overlapping genes ? How do they 	 2
differ from the normal genes ?

(d) Differentiate between a "phenocopy" and 	 3
a "mutant" by giving suitable examples.

	

3.	 (a) Mention the harmful aspects of using	 4
chemical pesticides on crops

(b) Discuss the mechanisms of sex 	 6
determination in poultry birds, honey bees,
and Bonellia.

	4. 	 (a) Explain with the help of labelled diagrams 	 4
the typical lytic cycle of a bacteriophage.

Give a brief account of genetic aspects of 	 3
cancer.

With the help of two examples, briefly 	 3
describe the role of monoclonal antibodies
for controlling human diseases.
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5.	 (a) Give a brief account of hormonal regulation 	 4
of transcription in Eukaryotes.

(b) Differentiate between the following : 	 6

Nucleus and Nucleoid

Heterochromatin and Euchromatin

(iii) Autopolyploids and allopolyploids.

	

6.	 (a) Discuss the Maternal-Foetal Incompatibility	 4
of blood groups and its prevention in human
beings.

(b) Describe the three major approaches used 	 6
in studying behaviour genetics.
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